
PAPER-44
AZwH«$‘m§H$ / Roll No.

CÎma-erQ> H«$‘m§H$ / OMR Answer Sheet No.

KmofUm : / Declaration :
‘¢Zo n¥îR> g§»¶m 1 na {X¶o J¶o {ZX}em| H$mo n‹T>H$a g‘P {b¶m h¡&
I have read and understood the instructions given on page No. 1

narjmWu H$m hñVmja /Signature of Candidate
(AmdoXZ nÌ Ho$ AwZgma /as signed in application)

narjm Ho$ÝÐmÜ¶j H$s ‘moha
Seal of Superintendent of Examination Centre

narjmWu H$m Zm‘/
Name of Candidate :

àíZnwpñVH$m H«$‘m§H$
Question Booklet Sr. No.  AA

Q. Booklet Code

narjm{W©¶m| Ho$ {bE {ZX}e /INSTRUCTIONS TO CANDIDATE

narjmWu H$mo {X¶o n¡amJ«m’$ H$s ZH$b ñd¶§ H$s hñV{b{n ‘| ZrMo {X¶o J¶o [a³V ñWmZ na ZH$b (H$m°nr) H$aZr h¡&
""Amn ghr ì¶dgm¶ ‘| h¢, ¶h Amn V^r OmZ|Jo O~ : Amn H$m‘ na OmZo Ho$ {bE qM{VV h¢, Amn {ZË¶ AnZm H$m‘ g~go AÀN>m H$aZm MmhVo h¢, Am¡a Amn AnZo H$m¶© Ho$ 
‘hËd H$mo g‘PVo h¢&''	 AWdm / OR 
To be copied by the candidate in your own handwriting in the space given below for this purpose is compulsory.
‘‘You will know you are in the right profession when : you wake anxious to go to work, you want to do your best daily, and you know your work is 
important.”

Aä¶{W©¶m| hoVw Amdí¶H$ {ZX}e : Instructions for the Candidate :
1.	 Amo.E‘.Ama. CÎma n{ÌH$m ‘| Jmobm| VWm g^r à{dpîQ>¶m| H$mo ^aZo Ho$ {bE Ho$db 

Zrbo ¶m H$mbo ~mb ßdmB§Q> noZ H$m hr Cn¶moJ H$a|&
1.	 Use BLUE or BLACK BALL POINT PEN only for all entries and for filling 

the bubbles in the OMR Answer Sheet.

2.	 SECURITY SEAL ImobZo Ho$ nhbo Aä¶Wu AnZm Zm‘, AZwH«$‘m§H$ (A§H$m| 
‘|) Amo.E‘.Ama. CÎma-erQ> H$m H«$‘m§H$ Bg àíZ-nwpñVH$m Ho$ D$na {X¶o J¶o 
ñWmZ na {bI|& ¶{X do Bg {ZX}e H$m nmbZ Zht H$a|Jo Vmo CZH$s CÎma-erQ> H$m 
‘yë¶m§H$Z Zhr hmo gHo$Jm VWm Eogo Aä¶Wu A¶mo½¶ Kmo{fV hmo Om¶|Jo&

2.	 Before opening the SECURITY SEAL of the question booklet, write 
your Name, Roll Number ( In figures), OMR Answer-sheet Number in 
the space provided at the top of the Question Booklet. Non-compliance 
of these instructions would mean that the Answer Sheet can not be 
evaluated leading the disqualification of the candidate.

3.	 àË¶oH$ àíZ Mma A§H$m| H$m h¡& {Og àíZ H$m CÎma Zht {X¶m J¶m h¡, Cg na H$moB© 
A§H$ Zht {X¶m Om¶oJm& JbV CÎma na A§H$ Zht H$mQ>m OmEJm&

3.	 Each question carries FOUR marks. No marks will be awarded for 
unattempted questions. There is no negative marking on wrong answer.

4.	 g^r ~hþ{dH$ënr¶ àíZm| ‘| EH$ hr {dH$ën ghr h¡, {Ogna A§H$ Xo¶ hmoJm& 4.	 Each multiple choice questions has only one correct answer and marks 
shall be awarded for correct answer.

5.	 JUH$, bm°J Q>o{~b, ‘mo~mBb ’$moZ, Bbo³Q´>m°{ZH$ CnH$aU VWm ñbmBS> ê$b Am{X 
H$m à¶moJ d{O©V h¡&

5.	 Use of calculator, log table, mobile phones, any electronic gadget and 
slide rule etc. is strictly prohibited.

6.	 Aä¶Wu H$mo narjm H$j N>moS>Zo H$s AZw‘{V narjm Ad{Y H$s g‘mpßV na hr Xr 
Om¶oJr&

6.	 Candidate will be allowed to leave the examination hall at the end of 
examination time period only.

7.	 ¶{X {H$gr Aä¶Wu Ho$ nmg nwñVH|$ ¶m AÝ¶ {b{IV ¶m N>nr gm‘J«r, {Oggo do 
ghm¶Vm bo gH$Vo/gH$Vr h¢, nm¶r Om¶oJr, Vmo Cgo A¶mo½¶ Kmo{fV H$a {X¶m Om 
gH$Vm h¡& Bgr àH$ma, ¶{X H$moB© Aä¶Wu {H$gr ^r àH$ma H$s ghm¶Vm {H$gr ^r 
ómoV go XoVm ¶m boVm (¶m XoZo H$m ¶m boZo H$m à¶mg H$aVm) hþAm nm¶m Om¶oJm, 
Vmo Cgo ^r A¶mo½¶ Kmo{fV {H$¶m Om gH$Vm h¡&

7.	 If a candidate is found in possession of books or any other printed 
or written material from which he/she might derive assistance, he/she 
is liable to be treated at disqualified. Similarly, if a candidate is found 
giving or obtaining (or attempting to give or obtain) assistance from any 
source, he/she is liable to be disqualified.

8.	 {H$gr ^r ^«‘ H$s Xem ‘| àíZ-nwpñVH$m Ho$ A§J«oOr A§e H$mo hr ghr d A§{V‘ 
‘mZm Om¶oJm&

8.	 English version of questions paper is to be considered as authentic and 
final to resolve any ambiguity.

9.	 OMR sheet Bg Paper Ho$ ^rVa h¡ VWm Bgo ~mha {ZH$mbm Om gH$Vm h¡ naÝVw 
Paper H$s grb Ho$db nona ewé hmoZo Ho$ g‘¶ na hr Imobm Om¶oJm&

9.	 OMR sheet is placed within this paper and can be taken out from this 
paper but seal of paper must be opened only at the start of paper.

PAPER-4
AZwH«$‘m§H$ / Roll No.

AA
Q. Booklet Code

H$j {ZarjH$ Ho$ hñVmja /Signature of the Invigilator

àíZnwpñVH$m H$moS>

àíZnwpñVH$m H$moS>

àíZnwpñVH$m H«$‘m§H$/ Question Booklet Sr. No. 

H$j {ZarjH$ Ho$ hñVmja /Signature of the Invigilator

* Bg n¥îR> H$m D$nar AmYm ^mJ H$mQ>Zo Ho$ ~mX {ZarjH$ Bgo N>mÌ H$s OMR sheet Ho$ gmW gwa{jV aIo&
* After cutting half upper part of this page, invigilator preserve it along with student’s OMR sheet.





narjmWu H$m Zm‘/
Name of Candidate :



Aptitude Test for Architecture
PART-A : Mathematics & Aesthetic Sensitivity
PART-B : Drawing Aptitude

nwpñVH$m ‘| ‘wIn¥îR> g{hV n¥îR>m| H$s g§»¶m
No. of Pages in Booklet including title

24 g‘¶ 2 K§Q>o
Time 2 Hours

A§H$ / Marks 
400

nwpñVH$m ‘| àíZm| H$s g§»¶m
No. of Questions in Booklet

100

22
22
22
22
22
22
22
22
22
22
22
22
22
22

22
22
22
22
22
22
22
22
22
22
22
22
22
22

Stamp



4 - AA ]	 [ 2 ]	 [ Contd...

22
22
22
22
22
22
22
22
22
22
22
22
22
22 PAPER-4

[Aptitude Test for General Awareness]
Reasoning and Logical Deduction	 :	 Q. 1 to Q. 25
Numerical Ability and Scientific Aptitude	 :	 Q. 26 to Q. 50
General Knowledge	 :	 Q. 51 to Q. 75
English Language	 :	 Q. 76 to Q. 100

PAPER 4 REASONING AND LOGICAL DEDUCTION

001.	 Bg l¥§Ibm ‘| {ZåZ{b{IV ‘| go H$m¡Z gm eãX 

SCD, TEF, UGH, ____, WKL Jm¶~ h¡?

	 (A)	 CMN	 (B)	 UJI

	 (C)	 VIJ	 (D)	 IJT

002.	 Bg l¥§Ibm ‘| {ZåZ{b{IV ‘| go H$m¡Z gm eãX 

CMM, EOO, GQQ, _____, KUU  Jm¶~ 

h¡?

	 (A) 	GRR	 (B) 	 GSS

	 (C) 	 ISS	 (D)	 ITT

001.	 Which of the following words missing in 

this series SCD, TEF, UGH, ____, WKL?

	 (A)	 CMN	 (B)	 UJI

	 (C)	 VIJ	 (D)	 IJT

002.	 Which of the following words missing 

in this series CMM, EOO, GQQ, _____, 

KUU

	 (A) 	GRR	 (B) 	 GSS

	 (C) 	 ISS	 (D)	 ITT
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003.	 Bg l¥§Ibm H$mo XoI|: 2, 1, (1/2), (1/4) AmJo 

H$m¡Z gr g§»¶m AmZr Mm{hE? 

	 (A) 	 (1/3)	 (B)	 (1/8)

	 (C) 	 (2/8)	 (D)	 (1/16)

004.	 Bg l¥§Ibm H$mo XoI|: (1/9), (1/3), 1, ____ , 9.  

[aº$ ñWmZ H$mo {H$g g§»¶m ‘| ^aZm Mm{hE?

	 (A)	 (2/3)	 (B)	 3

	 (C)	 6	 (D)	 27

005.	 {I‹S>>H$s H$m Omo gå~ÝY ’$bH$ go h¡ dhr gå~ÝY 
{H$Vm~ H$m h¡..

	 (A)	 CnÝ¶mg	 (B)	 ½bmg	
(C)	 H$da	 (D)	 n¥ð>

006.	 AmoS>mo‘rQ>a H$m Omo g§~§Y ‘mBboO go h¡ dhr g§~§Y 
H$ånmg H$m h¡

	 (A)	 ñnrS>	 (B)	 nd©VmamohU	

(C)	 gwB©	 (D)	 {Xem>

007.	 S>m°³Q>a: Zg©:: ? : AZw¶m¶r

	 (A)	 {Z¶moº$m>	 (B)	 ZoVm	

(C)	 H$m¶©H$Vm©	 (D)	 à~§YH$

008.	 EH$ {Z{üV H$moS> ‘| 'MISSIONS' H$mo 

'MSIISNOS' {bIm OmVm h¡& Cg H$moS> ‘| 

'ONLINE' H¡$go {bIm OmVm h¡?

	 (A)	 OLNNIE	 (B)	 ONILEN

	 (C)	 NOILEN	 (D)	 LNOENI

003.	 Look at this series: 2, 1, (1/2), (1/4), ... 

What number should come next?	

(A) 	 (1/3)	 (B)	 (1/8)

	 (C) 	 (2/8)	 (D)	 (1/16)

004.	 Look at this series: (1/9), (1/3), 1, ____ , 9. 

What number should fill the blank?

	 (A)	 (2/3)	 (B)	 3

	 (C)	 6	 (D)	 27

005.	 Window is to pane as book is to

	 (A)	 novel	 (B)	 glass	

(C)	 cover	 (D)	 page

006.	 Odometer is to mileage as compass is to

	 (A)	 Speed	 (B)	 Hiking	

(C)	 needle 	 (D)	 direction

007.	 Doctor : Nurse :: ? : Follower

	 (A)	 Employer	 (B)	 Leader

	 (C)	 Worker	 (D)	 Manager

008.	 In a certain code 'MISSIONS' is written as 

'MSIISNOS'. How is 'ONLINE' written 

in that code?

	 (A)	 OLNNIE	 (B)	 ONILEN

	 (C)	 NOILEN	 (D)	 LNOENI
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009.	 EH$ H$moS> ̂ mfm ‘| ¶{X POSE H$mo OQNPRTDF 

Ho$ ê$n ‘| H$mo{S>V {H$¶m OmVm h¡, Vmo TYPE 

eãX H$mo H$mo{S>V {H$¶m OmEJm

	 (A)	 SUXZOQFD	(B)	 SUXZQOFD

	 (C)	 SUXZOQDF	(D)	 SUXZQODE

010.	 EH$ Vñdra H$s Amoa Bemam H$aVo hþE {dnwb 

Zo H$hm, ""dh ‘oao XmXm Ho$ BH$bm¡Vo ~oQ>o H$s 

~oQ>r h¡&'' ’$moQ>moJ«m’$ ‘| b‹S>H$s go {dnwb H¡$go 

g§~§{YV h¡?

	 (A)	 {nVm	 (B)	 ^mB©	

(C)	 MMoao ^mB©	 (D)	 MmMm

011.	 A, B  H$s ~hZ h¡& C, B H$s ‘m± h¡& D, C H$m 

{nVm h¡& E, D  H$s ‘m± h¡& {’$a, A, D go H¡$go 

g§~§{YV h¡?

	 (A)	 XmXm	 (B)	 XmXr	

(C)	 ~oQ>r	 (D)	 nmoVr

012.	 EH$ gw~h CX¶ Am¡a {demb EH$ Xÿgao go Am‘Zo-

gm‘Zo ~mV H$a aho Wo& ¶{X {demb H$s N>m¶m 

CX¶ Ho$ ~mBª Amoa Wr, Vmo CX¶ {H$g {Xem H$s 

Amoa Wm?

	 (A)	 nyd©	 (B)	 n{ü‘	

(C)	 CÎma	 (D)	 X{jU

009.	 In a code language if POSE is coded as 

OQNPRTDF, then the word TYPE will 

be coded as

	 (A)	 SUXZOQFD	(B)	 SUXZQOFD

	 (C)	 SUXZOQDF	(D)	 SUXZQODE

010.	 Pointing to a photograph, Vipul said, 

"She is the daughter of my grandfather's 

only son." How is Vipul related to the girl 

in the photograph?

	 (A)	 Father	 (B)	 Brother

	 (C)	 Cousin	 (D)	 Uncle

011. 	 A is B's sister. C is B's mother. D is C's 

father. E is D's mother. Then, how is A 

related to D?

	 (A)	 Grandfather	 (B)	 Grandmother

	 (C)	 Daughter	 (D)	 Granddaughter

012.	 One morning Udai and Vishal were 

talking to each other face to face at a 

crossing. If Vishal’s shadow was exactly 

to the left of Udai, which direction was 

Udai facing?

	 (A)	 East	 (B)	 West

	 (C)	 North	 (D)	 South
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013.	 àgÝZm AnZo Ka go n{ü‘ ‘| 15 {H$‘r J¶m, {’$a 

~mE§ ‘w‹S>m Am¡a 20 {H$‘r Mbm& CgZo {’$a nyd© H$s 

Amoa éI {H$¶m Am¡a 25 {H$‘r VH$ Mbm Am¡a 

Am{Ia ‘| ~mBª H$s Amoa ‘w‹S> H$a 20 {H$‘r Mbm& 

dh AnZo Ka go {H$VZr Xÿa Wr?

	 (A)	 10 {H$‘r	 (B)	 20 {H$‘r	

(C)	 30 {H$‘r	 (D)	 40 {H$‘r

014.	 dh eãX MwZ| Omo ~m{H$¶m| go AbJ hmo&

	 (A)	 F$½doX	 (B)	 ¶Owd}X	

(C)	 AWd©doX	 (D)	 Am¶wd}X

015.	 {df‘ MwZo

	 (A)	 n|M	 (B)	 hWm¡S>m	

(C)	 gwB©	 (D)	 {nZ

016.	 {XE JE eãXm| H$mo dU©‘mbm H«$‘ ‘| ì¶dpñWV H$a| 

Am¡a nhbo AmZo dmbo H$mo MwZ|

	 (A)	 Science	 (B)	 Scrutiny

	 (C)	 Scripture	 (D)	 Scramble

017.	 ECONOMETRICS eãX ‘|, ¶{X nhbm Am¡a 

Xÿgam, Vrgam Am¡a Mm¡Wm, Mm¡Wm Am¡a nm±Mdm±, 

nm±Mdm± Am¡a N>µµR>m Aja, A§{V‘ Aja VH$ nañna  

~Xb {X¶m J¶m h¡ Vmo Xm¶| go Xgdm± Aja ³¶m 

hmoJm?

	 (A)	 O	 (B)	 R

	 (C)	 N	 (D)	 I

013.	 Prasanna went 15 km to the west of his 

house, then turned left and walked 20 km. 

He then turned East and walked 25 km 

and finally turning left covered 20 km. 

How far was he from his house?

	 (A)	 10 kms	 (B)	 20 kms

	 (C)	 30 kms	 (D)	 40 kms

014.	 Choose the word which is different from 

the rest.

	 (A)	 Rigveda	 (B)	 Yajurveda

	 (C)	 Atharvaveda	 (D)	 Ayurveda

015. 	 Choose the odd one out

	 (A)	 Screw	 (B)	 Hammer

	 (C)	 Needle	 (D)	 Pin

016.	 Arrange the given words Alphabetical 

Order and choose the one that comes first.

	 (A)	 Science	 (B)	 Scrutiny

	 (C)	 Scripture	 (D)	 Scramble

017.	 In the word ECONOMETRICS, if the 

first and second, third and fourth, fourth 

and fifth, fifth and sixth letters are 

interchanged up to the last letter, what 

would be the tenth letter from right?

	 (A)	 O	 (B)	 R

	 (C)	 N	 (D)	 I
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018.	 IF ‘+’ stands for ‘-’ , ‘-’ stands for ‘x’, ’x’ 

stands for ‘÷’ and ‘÷’stands for ‘+’then 

what is the value of 56x7÷13-11+15-

8÷2-7?

	 (A)	 30	 (B)	 45

	 (C)	 60	 (D)	 90

019.	 A + B means A is the son of B; A – B 

means A is the wife of B; A*B means A 

is the brother of B; A/B means A is the 

mother of B and A = B means A is the 

sister of B. What does P + R – Q mean?

	 (A)	 Q is the father of P

	 (B)	 Q is the son of P

	 (C)	 Q is the uncle of P

	 (D)	 Q is the brother of P

020.	 583 is related to 293 in the same way as 

488 is related to____

	 (A)	 291	 (B)	 378

	 (C)	 487	 (D)	 581

021.	 Find the missing number in following 

series. 11 : 25:: 17 : _

	 (A)	 33	 (B)	 28

	 (C)	 41	 (D)	 37

022.	 Select the correct combination of 
mathematical signs to replace ? signs and 
to balance the given equation.

	 8 ? 5 ? 2 ? 72 ? 4
	 (A)	 = ×+÷	 (B)	 × =+÷
	 (C)	 ×+ = ÷	 (D)	 +× = ÷

018.	 ¶{X ‘+’ H$m AW© ‘-’ Ho$ {bE h¡, Vmo ‘-’ H$m AW©  

‘X’ h¢, ‘X’  H$m AW© ‘÷’ h¡ Am¡a ‘÷’ H$m AW© 

‘+’ h¡ Vmo 56x7÷13-11+15-8÷2-7 H$m ‘mZ 

³¶m h¡?

	 (A)	 30	 (B)	 45

	 (C)	 60	 (D)	 90

019.	 A + B  H$m AW© h¡, A, B  H$m nwÌ h¡; A-B H$m 

‘Vb~ A, B ~r H$s nËZr h¡; A*B H$m AW© h¡ 

A, B H$m ^mB© h¡; A / B H$m AW© A, B H$s ‘m§ 

h¡ Am¡a A = B H$m AW© h¡ A, B H$s ~hZ h¡& 

P + R - Q H$m ³¶m AW© h¡?

	 (A)	 Q, P  H$m {nVm h¡

	 (B)	 Q, P  H$m nwÌ h¡

	 (C)	 Q, P  H$m MmMm h¡

	 (D)	 Q, P  H$m ^mB© h¡

020.	 583 H$m g§~§Y 293 go Cgr Vah h¡ O¡go 488 H$m 

g§~§Y h¡ ____ go?

	 (A)	 291	 (B)	 378
	 (C)	 487	 (D)	 581

021.	 {ZåZ{b{IV l¥§Ibm ‘| bwá g§»¶m kmV 
{H${OE? 
11 : 25:: 17 : _

	 (A)	 33	 (B)	 28
	 (C)	 41	 (D)	 37

022.	 ? H$mo à{VñWm{nV H$aZo Ho$ {bE J{UVr¶ g§Ho$Vm| 
Ho$ ghr g§¶moOZ H$m M¶Z H$a| Vm{H$ {XE JE 
g‘rH$aU H$mo g§Vw{bV {H$¶m Om gHo$&

	 8 ? 5 ? 2 ? 72 ? 4
	 (A)	 = ×+÷	 (B)	 × =+÷
	 (C)	 ×+ = ÷	 (D)	 +× = ÷
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023.	 Here are some words translated from an 

artificial language.

	 tamceno means sky blue

	 cenorax means blue cheese

	 aplmitl means star bright

	 Which word could mean "bright sky"?

	 (A)	 Cenotam	 (B)	 Mitltam

	 (C)	 Raxmitl	 (D)	 Aplceno

024. 	 Here are some words translated from an 

artificial language.

	 dionot means oak tree

	 blyonot means oak leaf

	 blycrin means maple leaf

	 Which word could mean "maple syrup"?

	 (A)	 Blymuth	 (B)	 Hupponot

	 (C)	 Patricrin	 (D)	 Crinweel

025.	 Here are some words translated from an 

artificial language.

	 moolokarn means blue sky	

	 wilkospadi means bicycle race

	 moolowilko means blue bicycle

	 Which word could mean "racecar"? 

	 (A)	 Wilkozwet	 (B)	 Spadiwilko

	 (C)	 Moolobreil	 (D)	 Spadivolo

023.	 ¶hm± Hw$N> eãXm| H$mo H¥${Ì‘ ̂ mfm go AZwdm{XV {H$¶m 

J¶m h¡&  V‘Ho$Zmo H$m ‘Vb~ hmoVm h¡ Amg‘mZr 

Zrbm

	 goZmoao³g H$m AW© hmoVm h¡ Zrbm nZra

	 AßbmpåVbH$m ‘Vb~ hmoVm h¡ Vmam M‘H$sbm

	 {H$g eãX H$m AW© ""M‘H$sbm AmH$me'' hmo 

gH$Vm h¡?

	 (A)	 Cenotam	 (B)	 Mitltam

	 (C)	 Raxmitl	 (D)	 Aplceno

024.	 ¶hm± Hw$N> eãX H¥${Ì‘ ^mfm go AZwdm{XV h¡&

	 S>m¶ZmoQ> H$m ‘Vb~ hmoVm h¡ AmoH$ H$m noS>

	 ãë¶moZmoVH$m ‘Vb~ hmoVm h¡ AmoH$ H$m nÎmm

	 ~mBb{H«$Z H$m ‘Vb~ h¡ ‘onb H$m nÎmm

	 {H$g eãX H$m AW© ""‘onb {gan'' hmo gH$Vm h¡?

	 (A)	 Blymuth	 (B)	 Hupponot

	 (C)	 Patricrin	 (D)	 Crinweel

025.	 ¶hm°§ Hw$N> eãXm| H$m H¥${Ì‘ ̂ mfm go AZwdmX {H$¶m 

J¶m h¡&

	 ‘ybmoH$U© H$m AW© h¡ Zrbm AmH$me

	 {dbH$moñnXrH$m ‘Vb~ h¡ gmB{H$b aog

	 ‘wëbmo{dëH$mo H$m AW© h¡ Zrbr gmBH$b

	 H$m¡Z go eãX H$m AW© ""aogH$ma'' hmo gH$Vm h¡?

	 (A)	 Wilkozwet	 (B)	 Spadiwilko

	 (C)	 Moolobreil	 (D)	 Spadivolo
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PAPER 4 NUMERICAL ABILITY AND SCIENTIFIC APTITUDE

026.	 6897 is divisible by

	 (A)	 11 only

	 (B)	 19 only

	 (C)	 Both 11 & 19

	 (D)	 Neither 11 nor 19

027.	 Three numbers are in the ratio 1:2:3 and 

their HCF is 12. The numbers are:

	 (A)	 4, 8, 12	 (B)	 5, 10, 15

	 (C)	 10, 20, 30	 (D)	 12, 24, 36

028.	 40.83 x 1.02 x 1.2 =?

	 (A)	 41.64660	 (B)	 42.479532

	 (C)	 49.97592	 (D)	 58.7952

029.	 If a*b = 2a - 3b + ab, then 3 * 5 + 5 * 3 is 

equal to: 

	 (A)	 24	 (B)	 22

	 (C)	 28	 (D)	 26

030.	 A cricketer has a certain average for 10 

innings. In the eleventh innings, he scored 

108 runs, thereby increasing his average 

by 6 runs. His new average is:

	 (A)	 48 runs	 (B)	 52 runs

	 (C)	 55 runs	 (D)	 60 runs

026.	 g§»¶m 6897 {H$gHo$ Ûmam {d^mÁ¶ h¡?

	 (A)	 Ho$db 11 go

	 (B)	 Ho$db 19 go

	 (C)	 11 & 19 XmoZmo go

	 (D)	 Zm Vmo 11 go Zm &9 go

027.	 VrZ g§»¶mE± 1:2:3 Ho$ AZwnmV ‘| h¢ Am¡a BZH$s 

‘.g.n. 12 h¡& do g§»¶mE± h¢:

	 (A) 	4, 8, 12	 (B) 	 5, 10, 15

	 (C) 	 10, 20, 30	 (D)	 12, 24, 36

028.	 40.83 x 1.02 x 1.2 =?

	 (A)	 41.64660	 (B)	 42.479532

	 (C)	 49.97592	 (D)	 58.7952

029.	 ¶{X a*b = 2a - 3b + ab, V~ 3 * 5 + 5 * 3 

{H$gHo$ ~am~a hmoJm? 

	 (A)	 24	 (B)	 22

	 (C)	 28	 (D)	 26

030.	 EH$ {H«$Ho$Q>a Ho$ nmg 10 nm[a¶m| Ho$ {bE EH$ 

{Z{üV Am¡gV hmoVm h¡& ½¶mahdt nmar ‘|, CgZo 

108 aZ ~ZmE, {Oggo CgH$m Am¡gV 6 aZ ~T>m& 

CgH$m Z¶m Am¡gV h¡:

	 (A)	 48  aZ 	 (B)	 52 aZ

	 (C)	 55 aZ	 (D)	 60 aZ
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031.	 If the sum and difference of two numbers 

are 20 and 8 respectively, then the 

difference of their square is: 

	 (A)	 12 	 (B)	 28

	 (C)	 160	 (D)	 180

032.	 In a 10 years, A will be twice as old a 

B was 10 years ago. If A is now 9 years 

older than B, the present age of B is:

	 (A)	 19 years	 (B)	 29 years

	 (C)	 39 years 	 (D)	 49 years

033.	 If P% of P is 36, then P is equal to:

	 (A)	 15	 (B)	 60

	 (C)	 600	 (D)	 3600

034.	 There are 600 boys in a hostel. Each plays 

either hockey or football or both. If 75% 

play hockey and 45% play football, how 

many play both?

	 (A)	 48	 (B)	 60

	 (C)	 80	 (D)	 120

035.	 A man buys a cycle for Rs. 1400 and sells 

it at a loss of 15%. What is the selling 

price of the cycle?

	 (A)	 Rs. 1090	 (B)	 Rs. 1160

	 (C)	 Rs. 1190	 (D)	 Rs. 1202

031.	 ¶{X Xmo g§»¶mAm| H$m ¶moJ Am¡a A§Va H«$‘e: 20 

Am¡a 8 h¡, Vmo CZHo$ dJ© H$m A§Va hmoJm 

	 (A)	 12 	 (B)	 28

	 (C)	 160	 (D)	 180

032.	 10 gmb ‘| A, 10 gmb nhbo H$m B go XmoJwZm 

hmoJm& ¶{X A A~ B go df© 9 ~S>m h¡, Vmo B 

H$s dV©‘mZ Am¶w h¡: 

	 (A)	 19 years	 (B)	 29 years

	 (C)	 39 years 	 (D)	 49 years

033.	 ¶{X P H$m P% 36 h¡, V~ P ~am~a hmoJm 

	 (A)	 15	 (B)	 60

	 (C)	 600	 (D)	 3600

034.	 EH$ N>mÌmdmg ‘| 600 bS>Ho$ h¢& àË¶oH$ bS>H$m 

hm°H$s ¶m ’w$Q>~m°b ¶m XmoZm| IobVm h¡& ¶{X 75% 

hm°H$s IobVo h¢ Am¡a 45% ’w$Q>~m°b IobVo h¢, Vmo 

XmoZm| Iob {H$VZo bS>Ho$ IobVo h¢? 

	 (A)	 48	 (B)	 60

	 (C)	 80	 (D)	 120

035.	 EH$ AmX‘r én¶o 1400 H$s EH$ gmB{H$b 

IarXVm h¡, Am¡a Bgo 15% H$s hm{Z na ~oMVm 

h¡& gmB{H$b H$m {dH«$¶ ‘yë¶ ³¶m h¡? 

	 (A)	 é. 1090	 (B)	 é. 1160

	 (C)	 é. 1190	 (D)	 é. 1202
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036.	 A shopkeeper sold an article offering 

discount of 5% and earned a profit 

of 23.5%. What would have been the 

percentage of profit earned if no discount 

was offered?

	 (A)	 24.5	 (B)	 30

	 (C)	 28.5	 (D)	 35

037.	 4 men and 6 women can complete a work 

in 8 days while 3 men and 7 women can 

complete it in 10 days. In how many days 

will 10 women complete it? 

	 (A)	 35	 (B)	 40

	 (C)	 45	 (D)	 50

038.	 A is twice as fast as B and B is thrice as 

fast as C. The journey covered by C in 54 

minutes will be covered by B in:

	 (A)	 18 min	 (B)	 27 min

	 (C)	 38 min	 (D)	 42 min

039.	 A train crosses a platform 100-meter-long 

in 60 seconds at a speed of 45 km/hr. The 

time taken by the train to cross an electric 

pole is: 

	 (A)	 8 sec	 (B)	 52 sec

	 (C)	 62 sec	 (D)	 1 minute

036.	 EH$ XþH$mZXma Zo 5% H$s Ny>Q> H$s noeHo$e H$aVo 

hþE EH$ gm‘mZ ~oMm Am¡a 23.5% H$m bm^ 

H$‘m¶m& ¶{X Ny>Q> H$s noeHo$e Zht H$s JB© Vmo 

bm^ H$m à{VeV ³¶m hmoJm? 

	 (A)	 24.5	 (B)	 30

	 (C)	 28.5	 (D)	 35

037.	 4 nwéf Am¡a 6 ‘{hbmE§ 8 {XZm| ‘| EH$ H$m‘ nyam 

H$a gH$Vo h¢ O~{H$ 3 nwéf Am¡a 7 ‘{hbmE§ Bgo 

10 {XZm| ‘| nyam H$a gH$Vr h¢& 10 ‘{hbmE§ Bgo 

{H$VZo {XZm| ‘| nyam H$a|Jr? 

	 (A)	 35	 (B)	 40

	 (C)	 45	 (D)	 50

038.	 A, B go XmoJwZm VoO h¡ Am¡a B, C go VrZ JwZm 

VoO h¡& C Ûmam ¶mÌm H$mo 54 {‘ZQ> nyam {H$¶m 

OmVm h¡ Vmo B Ûmam Bg ¶mÌm H$mo nyU© H$s OmEJr; 

	 (A)	 18 {‘.	 (B)	 27 {‘.

	 (C)	 38 {‘.	 (D)	 42 {‘.

039.	 EH$ Q́>oZ 45 {H$‘r/ K§Q>m H$s J{V go 60 goH§$S> 

‘| 100 ‘rQ>a b§~m EH$ ßboQ>’$m°‘© nma H$aVr h¡& 

{~Obr Ho$ nmob H$mo nma H$aZo ‘| Q́>oZ Ûmam {b¶m 

J¶m g‘¶ h¢: 

	 (A)	 8 go.	 (B)	 52 go.

	 (C)	 62 go.	 (D)	 1 {‘ZQ>
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040.	 If the radius of a circle is increased by 

6%, then the area is increased by:

	 (A)	 6%	 (B)	 12%

	 (C)	 12.36%	 (D)	 13.26%

041.	 A jet engine works on the principle of 

conservation of

	 (A)	 Linear momentum

	 (B)	 Angular momentum

	 (C)	 Energy

	 (D)	 Mass

042.	 Through, which of one among the 

following materials, does sound travel 

slowest:

	 (A)	 Air	 (B)	 Glass

	 (C)	 Water 	 (D)	 Wood

043.	 “The stars seem to be higher on the sky 

they actually are” this can be explained 

by:

	 (A)	 Atmospheric refraction

	 (B)	 Dispersion of light

	 (C)	 Diffraction of light

	 (D)	 Total internal reflection

044.	 In SONAR, we use 

	 (A)	 Infrasonic waves

	 (B)	 Ultrasonic waves

	 (C)	 Radio waves

	 (D)	 Audible sound waves

040.	 ¶{X {H$gr d¥Îm H$s {ÌÁ¶m 6% ~T> OmVr h¡, Vmo 

CgHo$ joÌ’$b ‘| d¥{Õ hmoVr h¡: 

	 (A)	 6%	 (B)	 12%

	 (C)	 12.36%	 (D)	 13.26%

041.	 OoQ> B§OZ {H$gHo$ {gÕm§V na H$m‘ H$aVm h¡ 

	 (A)	 a¡{IH$ J{V

	 (B)	 H$moUr¶ J{V

	 (C)	 D$Om©

	 (D)	 Ðì¶‘mZ

042.	 {ZåZ{b{IV ‘| go, {H$g gm‘J«r Ho$ ‘mÜ¶‘ go, 

Üd{Z ¶mÌm g~go Yr‘r hmoVr h¡ 

	 (A)	 hdm	 (B)	 ½bmg

	 (C)	 nmZr	 (D)	 bH$S>r

043.	 ""Vmao Amg‘mZ ‘| dmñVd ‘| {OVZm D±$Mm hmoVo 

h¢ Cggo A{YH$ àVrV hmoVo h¢'' ¶h CgHo$ Ûmam 

g‘Pm¶m Om gH$Vm h¡: 

	 (A)	 dm¶w‘§S>br¶ AndV©Z

	 (B)	 àH$me H$m ’¡$bmd

	 (C)	 àH$me H$m {dMbZ

	 (D)	 Hw$b Am§V[aH$ namdV©Z

044.	 SONAR ‘| h‘ à¶moJ H$aVm h¢: 

	 (A)	 BÝ’«$mgmo{ZH$ Va§J|

	 (B)	 AëQ́>mgmo{ZH$ Va§J|

	 (C)	 ao{S>¶mo Va§J|

	 (D)	 lì¶ Üd{Z Va§J|
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045.	 Which one of the following is an element?

	 (A)	 Topaz	 (B)	 Diamond

	 (C)	 Ruby	 (D)	 Sapphire

046.	 Which of the following gases is used for 

refrigeration?

	 (A)	 Chlorine	 (B)	 Sulphur dioxide

	 (C)	 Phosphine	 (D)	 Ammonia

047.	 The types of glass used in making lenses 

and prisms is:

	 (A)	 Soft glass	 (B)	 Pyrex glass

	 (C)	 Jena glass	 (D)	 Flint glass

048.	 In the human body, red blood cells are 

produced in:

	 (A)	 Liver

	 (B)	 Pancreas

	 (C)	 Bone marrow

	 (D)	 None of the above

049.	 The oral Polio vaccine was discovered by 

	 (A)	 Louis Pasteur

	 (B)	 Robert Koch

	 (C)	 Albert Sabin

	 (D)	 Alexander Fleming

050.	 Night blindness can be corrected by intake 

of:

	 (A)	 Vitamin A	 (B)	 Vitamin B

	 (C)	 Vitamin C	 (D)	 Vitamin D

045.	 {ZåZ{b{IV ‘| go H$m¡Z gm EH$ VËd h¡? 

	 (A)	 nwIamO	 (B)	 hram

	 (C)	 ê$~r	 (D)	 Zrb‘

046.	 àerVZ Ho$ {bE {ZåZ{b{IV ‘| go {H$g J¡g H$m 

Cn¶moJ {H$¶m OmVm h¡? 

	 (A)	 ³bmoarZ	 (B)	 gë’$a S>mBAm°³gmBS>

	 (C)	 ’$moñ’${¶Z	 (D)	 A‘mo{Z¶m

047.	 b|g Am¡a {àÁ‘ ~ZmZo ‘| Cn¶moJ {H$E OmZo dmbo 

½bmg Ho$ àH$ma h¢:

	 (A)	 gm°âQ> ½bmg	 (B)	 nmBao³g ½bmg

	 (C)	 OoZm ½bmg	 (D)	 pâb̈Q> ½bmg

048.	 ‘mZd eara ‘|, bmb aº$ H$mo{eH$mAm| H$m CËnmXZ 

hmoVm h¡

	 (A)	 {bda

	 (B)	 A½Ý¶me¶

	 (C)	 ApñW ‘‚mm

	 (D)	 Cnamoº$ ‘| go H$mB© Zht

049.	 Amoab nmo{b¶mo d¡³grZ H$s ImoO {H$gZo H$s Wr

	 (A)	 bwB© nmüa

	 (B)	 am°~Q>© H$moM

	 (C)	 Aë~Q>© gm{~Z

	 (D)	 Abo³O|S>a âboq‘J

050.	 {H$gHo$ godZ go aVm¢Yr H$mo R>rH$ {H$¶m Om gH$Vm 

h¡

	 (A)	 {dQ>m{‘Z E	 (B)	 {dQ>m{‘Z ~r

	 (C)	 {dQ>m{‘Z gr	 (D)	 {dQ>m{‘Z S>r
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051.	 {H$g amÁ¶ gaH$ma Zo "dëS>© ho{~Q>oQ> nwañH$ma' 

AnZo "OmJm {‘eZ' Ho$ {bE OrVm h¡, {OgH$m 

CÔoí¶ ‘{bZ ~pñV¶m| H$mo ahZo ¶mo½¶ ~ZmZm h¡? 

	 (A)	 JwOamV	 (B)	 CÎma àXoe

	 (C)	 C‹Srgm	 (D)	 Ag‘

052.	 2019 ‘| ""Aë’$m~oQ> B§H$'' H$m ‘w»¶ A{Yemgr 

A{YH$mar {H$go {Z¶wº$ {H$¶m J¶m h¢& 

	 (A)	 ñQ>rd ~m‘a

	 (B)	 gË¶m ZS>obm

	 (C)	 gJu {~«Z

	 (D)	 gw§Xa {nMmB©

053.	 {S>g§~a 2019 ‘| {~«Q>Z H$m àYmZ‘§Ìr {H$go MwZm 

J¶m? 

	 (A)	 JmoS>©Z ~«mD$Z

	 (B)	 S>o{dS> Ho$‘amoZ

	 (C)	 Woaogm ‘o

	 (D)	 ~mo[ag OmoZgZ

054.	 2019 ‘| {díd Am{W©H$ ‘§M Ûmam Omar {H$E JE 

b¢{JH$ A§Va gwMH$m§H$ ‘| ^maV H$m ³¶m ñWmZ 

h¢? 

	 (A)	 114	 (B)	 113

	 (C)	 112	 (D)	 111

051.	 Which state government has won the 

'World Habitat Award' for its Jaga 

Mission, that aims at transforming the 

slums into livable habitats?

	 (A)	 Gujarat	 (B)	 Uttar Pradesh

	 (C)	 Odisha	 (D)	 Assam

052.	 Who was appointed as the Chief Executive 

Officer (CEO) of Alphabet Inc. in 2019?

	 (A)	 Steve Ballmer

	 (B)	 Satya Nadella

	 (C)	 Sergey Brin

	 (D)	 Sundar Pichai

053.	 Who was elected as the Prime Minister of 

the Britain in December 2019?

	 (A)	 Gordon Brown

	 (B)	 David Cameron

	 (C)	 Theresa May

	 (D)	 Boris Johnson

054.	 What is India's rank in the recently 

released Gender Gap Index for the year 

2019 by World Economic Forum (WEF)?

	 (A)	 114	 (B)	 113

	 (C)	 112	 (D)	 111

PAPER 4 GENERAL KNOWLEDGE
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055.	 To what kind of transaction, National 

Payments Corporation of India (NPCI) 

has set up subsidiaries to elevate it to 

International (Other) Countries?

	 (A)	 Immediate Payment Service (IMPS)

	 (B)	 Unified Payment Interface (UPI)

	 (C)	 Real-time gross settlement (RTGS)

	 (D)	� National Electronic Funds Transfer 

(NEFT)

056.	 Which Indian wrestler first won the 2019 

'Junior Freestyle Wrestler of the Year' at 

the age of 18 by United World Wrestling 

(UWW)?

	 (A)	 Sushil Kumar	 (B)	 Rahul Aware

	 (C)	 Mausam Khatri	(D) 	Deepak Punia

057.	 What is the name of the currency that was 

renamed from "CFA Franc" by 8 West 

African Nations (Benin, Burkina Faso, 

Guinea-Bissau, Ivory Coast, Mali, Niger, 

Senegal, and Togo) recently?

	 (A)	 Ero	 (B)	 Euro

	 (C)	 Esho	 (D)	 Eco

055.	 {H$g Vah Ho$ boZ-XoZ Ho$ {bE ^maVr¶ amï´>r¶ 

^wJVmZ {ZJ‘ Zo gh¶moJr g§ñWmAmo H$s ñWmnZm 

H$s h¢, {Oggo BgH$mo A§Vaamï´>r¶ ñWa na ~T>m 

gHo$? 

	 (A)	� Vwa§V ^wJVmZ godm / B©{‘S>o¶oQ> no‘ÝQ> 

g{d©goO

	 (B)	 ¶wZr’$mBS> no‘ÝQ> B§Q>adog

	 (C)	 ar¶b Q>mB©‘ J«mog goQ>b‘oÝQ>

	 (D)	 ZoeZb Bbo³Q´>mo{ZH$ ’§$‹S> Q´>m§g’$a

056.	 {H$g ^maVr¶ nhbdmZ Zo "¶wZmB©{Q>S> {díd 

nhbdmZr à{V¶mo{JVm' 2019 df© H$m Ow{Z¶a 

’«$sñQ>mBb nhbdmZr H$m {IVm~ OrVm h¡? 

	 (A)	 gwerb Hw$‘ma	 (B)	 amhþb Admao

	 (C)	 ‘m¡g‘ IÌr	 (D)	 XrnH$ nw{Z¶m

057.	 AmR> npíM‘r A’«$sH$s Xoem| Ûmam (~«o{ZZ, ~wa{H$Zm 

’$mgmo, {‘{Z¶m-{~gmD$, AmB©dar H$moñQ>, ‘mbr, 

ZmB©Oa, goZoJb Am¡a Q>moJmo) AnZr ‘wÐm CFA-

FRANC H$mo {H$g ZE Zm‘ go nhMmZm h¢¡?

	 (A)	 Ero	 (B)	 Euro 

	 (C)	 Esho	 (D)	 Eco
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058.	 Who was honored with the first 'Icon 

of Golden Jubilee Award' during 50th 

International Film Festival of India (IFFI) 

2019 in Goa?

	 (A)	 Shahrukh Khan

	 (B)	 Amitabh Bachchan

	 (C)	 S. Rajinikanth

	 (D)	 Kamal Haasan

059.	 What was the theme of 11th DefExpo 

held in Lucknow, Uttar Pradesh?

	 (A)	 'Digital Information of Defence'

	 (B)	� 'Indian Defence role in the 

Transforming India'

	 (C)	 'Digital Transformation of Defence'

	 (D)	 'Defence and Indian Economy'

060.	 Which organization has partnered with 

the National Health Authority (NHA) for 

strengthening the implementation of the 

Ayushman Bharat-Pradhan Mantri Jan 

Arogya Yojana?

	 (A)	 Infosys	 (B)	 Facebook

	 (C)	 Google	 (D)	 Microsoft

061.	 Who won the Raman Magsaysay award 

for journalism 2019?

	 (A)	 Sandeep Pandey

	 (B)	 Sudheer Chaudhury

	 (C)	 Sanjiv Chaturvedi

	 (D)	 Ravish Kumar

058.	 {H$gH$mo àW‘ AmBH$moZ JmoëS>Z Ow~br AdmS>©, 

50th ^maVr¶ Am§Vaamï´>r¶ {’$ë‘ CËgd, 2019 

Jmodm ‘| gå‘m{ZV {H$¶m J¶m h¢? 

	 (A)	 emhéI ImZ

	 (B)	 A{‘Vm^ ~ƒZ

	 (C)	 Eg aOZrH$m§V

	 (D)	 H$‘b hgZ

059.	 bIZD$, CÎma àXoe ‘| Am¶mo{OV 11 d| {S>’o$Ýg 

E³gnmo H$m {df¶ ³¶m Wm? 

	 (A)	 ajm H$s {S>{OQ>b gyMZm	

(B)	 ^maVr¶ ajm H$m ^maV Ho$ n[adV©Z ‘| 		

	 ¶moJXmZ

	 (C)	 ajm H$m {S>{OQ>b n[adV©Z	

(D)	 ajm Am¡a ^maVr¶ AW©ì¶dñWm

060.	 {H$g g§ñWm Zo amḯ>r¶ ñdmñÏ¶ àm{YH$aU Ho$ gmW 

^mJrXmar H$a Ho$ àYmZ‘§Ìr OZ Am¶mo½¶ ¶moOZm 

"Am¶wî¶‘mZ ^maV' H$mo bmJy H$aZo ‘o ghm¶Vm H$s 

h¢? 

	 (A)	 B§’$mo{gg	 (B)	 ’o$g~wH$

	 (C)	 JwJb	 (D)	 ‘mB©H«$mogmoâQ>

061.	 a‘Z ‘½gog¶ AdmS>© 2019 nÌH$m[aVm Ho$ {dOoVm 

H$m¡Z h¡? 

	 (A)	 g§Xrn nm§S>o

	 (B)	 gwYra Mm¡Yar

	 (C)	 g§Ord MVwd}Xr

	 (D)	 adre Hw$‘ma
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062.	 BZ‘| go {H$g g§ñWm Zo {ZdofH$m| H$mo "{S>{OQ>b 

dm°boQ>' Ho$ Ûmam å¶wMb ’§$S> IarXZo H$s AZw‘Vr 

Xr h¡? 

	 (A)	 ñQ>m°H$ E³g|O ~moS>© Am°’$ B§{S>¶m	

(B)	 ‘mo{ZqQ´>J å¶wMb ’§$S> BZdoñQ>‘|Q>

	 (C)	 H«o${S>Q> aoQ> {bñQ> {S>nmQ>©‘|Q>	

(D)	 ’$mBZ|{e¶b EZm{b{gg {S>nmQ>©‘|Q>

063.	 ßbmpñH$ doñQ> go S>rOb ~ZmZo Ho$ {bE, ̂ maV H$m 

nhbm ßbm§Q> H$hm± Imobm J¶m h¢? 

	 (A)	 AmB©Omob	 (B)	 ‘Wwam

	 (C)	 {ebm|J	 (D)	 H$mo{h‘m

064.	 à{gÕ ~mgHo$Q>~mob {IbmS>r {OgZo Xmo Am°b§{nH$ 

ñdU©nXH$ OrVo, qH$Vw EH$ hobrH$m°ßQ>a XþK©Q>Zm ‘| 

‘mao JE& CZH$m Zm‘ ~VmB¶o& 

	 (A)	 H$m~o ~«m¶§Q>	 (B)	 bo~amoZ Ooåg

	 (C)	 {H«$g do~a	 (D)	 ñQ>r’$Z H$[a

065.	 H$m¡Z go VrZ ~¢H$ 1 Aà¡b 2020 go {db¶ hmoH$a 

EH$ Z¶o Am¡a Xÿgao g~go ~S>o ~¢H$ ~Z|Jo? 

	 (A)	 PNB, OBC  Am¡a ¶wZmB{S>Q> ~¢H$ (UB) 

	 (B)	 UB, qg{S>Ho$Q> ~¢H$, Am¡a PNB

	 (C)	 Am§Y«m ~¢H$, OBC, Am¡a PNB

	 (D)	 OBC, UB Am¡a qg{S>Ho$Q> ~¢H$

066.	 {H$g Xoe ‘| {díd Am{W©H$ ‘§M 2019, d¡pídH$ 
à{V¶moJr gwMH$m§H$ 4.0 ‘| àW‘ ñWmZ àmá {H$¶m 
h¢?

	 (A)	 pñdOab¢S>
	 (B)	 {ZXab|S>
	 (C)	 qgJmnwa

	 (D)	 ¶w.Eg.E. (USA)

062.	 Which of the following organization has 
allowed the investors to buy mutual fund 
through digital wallets?

	 (A)	 Stock Exchange Board of India
	 (B)	� Monitoring Mutual Fund 

Investments
	 (C)	 Credit Rate List Department
	 (D)	 Financial Analysis Department

063.	 Where was the India's 1st plant set up 
to produce diesel from plastic waste 
opened?

	 (A)	 Aizawl	 (B)	 Mathura
	 (C)	 Shillong	 (D)	 Kohima

064.	 Name the famous basketball player who 
won 2 gold in Olympics, but died recently 
in a helicopter crash?

	 (A)	 Kobe Bryant	 (B)	 Lebron James
	 (C)	 Chriss Weber	(D)	 Stephen Curry

065.	 Which of the three banks which have 
merged together to become a new bank 
and the second largest from  April 1, 
2020?

	 (A)	 PNB, OBC and United Bank (UB)
	 (B)	 UB, Syndicate Bank, and PNB
	 (C)	 Andhra Bank, OBC, and PNB
	 (D)	 OBC, UB, and Syndicate Bank

066. 	 Which country has topped in the World 
Economic Forum (WEF)'s 2019 Global 
Competitiveness Index 4.0. ?

	 (A)	 Switzerland
	 (B)	 Netherlands
	 (C)	 Singapore

	 (D)	� United States of America
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067.	 Who is the winner of Noble prize for 

literature in 2019?

	 (A)	 Peter Handke

	 (B)	 Olga Tokarczuk

	 (C)	 Sophie Semin

	 (D)	 Kazuo Ishiguro

068.	 Who won 19th world title and breaks the 

record for most world medals won by any 

gymnast?

	 (A)	 Katelyn Ohashi

	 (B)	 Aly Raisman

	 (C)	 Simone Biles

	 (D)	 Gabby Douglas

069.	 Where is India's first marine national park 

located in?

	 (A)	 The gulf of Mannar

	 (B)	 Bay of Bengal

	 (C)	 Gulf of Khambhat

	 (D)	 Arabian sea

070.	 The highest glacial lake of India located 

at the height of 17745 feet in Garhwal 

Himalaya is known as

	 (A)	 Devtal	 (B)	 Roopkund

	 (C)	 Kedaltal	 (D)	 Homkund

071.	 Which of the following(s) ancient Tamil 

Kingdoms came to be known from 

Sangam Literature?

	 (A)	 Chola	 (B)	 Chera

	 (C)	 Pandya	 (D)	 All of the above

067.	 gm{hË¶ Ho$ Zmo~b nwañH$ma, 2019, H$m {dOoVm 

H$m¡Z h¡?

	 (A)	 nrQ>a hm§S>Ho$>

	 (B)	 AmobJm Q>moH$amOH$>

	 (C)	 gmo’$s go{‘Z

	 (D)	 H$mOwAmo B{eJmoamo

068.	 19 dm§ {díd {O‘ZmñQ> H$s Cnm{Y àmá H$aZo dmbm 

Am¡a gdm©{YH$ nXH$m| Ho$ [aH$mS>© H$mo VmooS>Zodmbo 

{O‘ZmñQ> H$m¡Z h¢? 

	 (A)	 H$mBQ>oqbZ Amohmgr

>	 (B)	 Ebr amBg‘|Z>

	 (C)	 {g‘moZ ~mBëg

	 (D)	 Jo~r ‹S>>Jbg

069.	 ^maV H$m nhbm amḯ>r¶ g‘wÐr nmH©$ H$hm± pñWV h¢?

	 (A)	 ‘ÝZma H$s Im‹S>>r>

	 (B)	 ~§Jmb H$s Im‹S>>r>

	 (C)	 Iå~mQ> H$s Im‹S>>r

	 (D)	 Aa~r gmJa

070.	 ^maV H$s g~go D±$Mr {h‘ZXr¶ Prb Omo H$s 

17745 ’$sQ> H$s D±$MmB© na JS>dmb {h‘mb¶ ‘§ 

h¢, {H$g Zm‘ go OmZr OmVr h¢?

	 (A)	 XodVmb	 (B)	 énHw§$S>>

	 (C)	 Ho$XmbVmb	 (D)	 hmo‘Hw§$S>

071.	 BZ‘| go H$m¡Z go àmMrZ V{‘b amÁ¶, g§J‘ gm{hË¶ 

go OmZo JE?

	 (A)	 Mmobm>	 (B)	 Moam>

	 (C)	 nm§S>çm	 (D)	 Cnamooº$ g^r
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072.	 BZ‘| go {H$g H$ånZr Zo UNESCO (¶yZoñH$mo) 

Ho$ gmW ^mJrXmar go àm¡Úmo{JH$s H$mo ³bmgê$‘ ‘| 

AnZm¶m h¢?

	 (A)	 go‘g§J	 (B)	 {bZmodmo>

	 (C)	 Vmo{e~m	 (D)	 S>ob

073.	 ^maVr¶ ImÚ gwajm Ed§ ‘mZH$ àm{YH$aU Zo 

(FSSAI) {H$g H$ånZr Ho$ gmW ^mJrXmar ‘| ImÚ 

j¶ H$mo amoH$Zo Ho$ {bE EH$ Eßn (App) {dH${gV 

H$aZo dmbo h¡?

	 (A)	 JwJb

	 (B)	 ZmgH$mo‘ ’$mD§$S>oeZ (NASSCOM) >

	 (C)	 BÝ’$mo{gg

	 (D)	 Q>r.gr.Eg. (TCS)

074.	 ’o$g~wH$ Ho$ Ûmam àjo{nV H$s JB© {H«$ßQ>moH$a|gr Omo 

H$s {díd^a ‘o {dÎmr¶ boZ-XoZ H$s AZw‘{V XoVm 

h¢, H$m Zm‘ ³¶m h¢? 

	 (A)	 S>mo{~b (Dobil)  ( B)  {b~«m (Libra)

	 (C)	 H«$mB©H$mo (Cryco)  (D)  {S>{Ogr (Digicy)

075.	 g‘wÐr¶ CËnmX {Z¶m©V {dH$mg àm{YH$aU Ho$ Ûmam 

Am¶mo{OV A§Vaamï´>r¶ g‘wÐr ^moOZ emo, 2019 

H$m {df¶ ³¶m Wm? 

	 (A)	 Zrb H«$m§{V 

	 (B)	 g‘wÐr OrdZ g§ajU

	 (C)	 g‘wÐr ^moOZ Ho$ {bE g‘wÐ H$m g§ajU	

(D)	 AJbr nrT>r Ho$ {bE g‘wÐ H$m g§ajU

072.	 Which of the following company has 

partnered with UNESCO to adopt 

technology in classrooms?

	 (A)	 Samsung	 (B)	 Lenovo

	 (C)	 Toshiba	 (D)	 Dell

073.	 FSSAI (Food Safety and Standards 

Authority of India) is going to develop 

app to prevent food wastage in partnership 

with which company?

	 (A)	 Google

	 (B)	 NASSCOM Foundation

	 (C)	 Infosys

	 (D)	 TCS

074.	 Facebook launches cryptocurrency 

which allows users to make financial 

transactions across the globe. It's named 

as

	 (A)	 Dobil	 (B)	 Libra

	 (C)	 Cryco	 (D)	 Digicy

075.	 What was the theme of the International 

Sea Food show organized by the Marine 

Products Export Development Authority 

in 2019?

	 (A)	 Blue Revolution

	 (B)	 Save marine life

	 (C)	 Save sea for sea food

	 (D)	 Save sea for the next generation
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PAPER 4 ENGLISH LANGUAGE

076.	 Pick the word that is closet in meaning to 

‘Eccentric’.

	 (A)	 Strange	 (B)	 Natural 

	 (C)	 Shine	 (D)	 Gentle

077.	 Pick the word that is closet in meaning to 

‘Justify’.

	 (A)	 Defend	 (B)	 Tender 	

	 (C)	 Cruel	 (D)	 Optional

078.	 Antonym of ‘Sarcastic’:

	 (A)	 Ironical	 (B)	 Derisive	  

	 (C)	 Courteous 	 (D)	 Saucy

079. 	 Antonym of ‘Vanity’:

	 (A)	 Modesty	 (B)	 Esteemed

	 (C)	 Conceit	 (D)	 Pretension

080. 	 Pick the word that is closet in meaning of 

the idiom “Make a long story short”:

	 (A)	 Come to the point

	 (B)	 No manners

	 (C)	 All of it

	 (D)	 Everything

081.	 Pick the word that is closet in meaning of 

the phrase “about to”:

	 (A)	� to be on the point of doing something.

	 (B)	 suddenly, without advance warning

	 (C)	 with regard to

	 (D)	 in addition

082.	 Animals that eat flesh:

	 (A)	 Herbivorous	 (B)	 Carnivorous

	 (C)	 Amphibians 	 (D)	 Gregarious

Questions 083 through 086 refer to the following 

passage:

The human body can tolerate only a small range 

of temperature, especially when the person is 

engaged in vigorous activity. Heat reactions 

usually occur when large amounts of water and/or 

salt are lost through excessive sweating following 

strenuous exercise. When the body becomes 

overheated and cannot eliminate this excess heat, 

heat exhaustion and heat stroke are possible. 

Heat exhaustion is generally characterized by 

clammy skin, fatigue, nausea, dizziness, profuse 

perspiration, and sometimes fainting, resulting 

from an inadequate intake of water and the loss 
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of fluids. First aid treatment for this condition 

includes having the victim lie down, raising the 

feet 8 to 12 inches, applying cool, wet cloths 

to the skin, and giving the victim sips of salt 

water (1 teaspoon per glass, half a glass every 

15 minutes) over a 1-hour period. Heat stroke 

is much more serious; it is an immediate life-

threatening situation. The characteristics of heat 

stroke are a high body temperature (which may 

reach 106° F or more); a rapid pulse; hot, dry skin; 

and a blocked sweating mechanism. Victims of 

this condition may be unconscious, and first-aid 

measures should be directed at quickly cooling 

the body. The victim should be placed in a tub 

of cold water or repeatedly sponged with cool 

water until his or her temperature is sufficiently 

lowered. Fans or air conditioners will also help 

with the cooling process. Care should be taken, 

however, not to-over-chill the victim once the 

temperature is below 102° F.

083.	 The most immediate concern of a person 

tending to a victim of heat stroke should 

be to

	 (A)	 get salt into the victim’s body.

	 (B)	 raise the victim’s feet.

	 (C)	 lower the victim’s pulse.

	 (D)	 lower the victim’s temperature.

084.	 Which of the following is a symptom of 

heat exhaustion?

	 (A) 	unconsciousness

	 (B)	 profuse sweating

	 (C)	 hot, dry skin

	 (D)	 a weak pulse

085.	 Heat stroke is more serious than heat 

exhaustion because heat stroke victims

	 (A)	 do not sweat.

	 (B)	 have no salt in their bodies.

	 (C)	 cannot take in water.

	 (D)	 have frequent fainting spells.

086.	 Symptoms such as nausea and dizziness 

in a heat exhaustion victim indicate that 

the person most likely needs to

	 (A)	 be immediately taken to a hospital.

	 (B)	 be given more salt water.

	 (C)	 be immersed in a tub of water.

	 (D)	 sweat more.

087. 	 Draw …. map of India.

	 (A)	 a	 (B)	 the

	 (C)	 an	 (D)	 zero article

088. 	 Doctor says it is ….  hopeless case.

	 (A)	 the	 (B)	 an

	 (C)	 a	 (D)	 zero article
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089. 	 I came the day ….. yesterday. 

	 (A)	 after	 (B)	 before 	

	 (C)	 since	 (D)	 over

090. 	 He rules …. a vast empire.

	 (A)	 above	 (B)	 upon

	 (C)	 over 	 (D)	 under

091.	 Our hoard is little, …. our hearts are great.

	 (A)	 and 	 (B)	 or

	 (C)	 but 	 (D)	 that

092. 	 Two …. two make four.

	 (A)	 a	 (B)	 and 

	 (C)	 but	 (D)	 an

093.	 Which of the following is the correct 

‘indirect’ equivalent of the sentence? 

He said, “I am unwell”.

	 (A)	 He said he was unwell.

	 (B)	 He said to me I was unwell.

	 (C)	 He said to me that I am unwell.

	 (D)	 He said me I was unwell.

094. 	 Which of the following is the correct 

‘direct’ equivalent of the sentence?

	 She said she didn’t believe him.

	 (A)	� She tells to me, “I don’t believe 

you”.

	 (B)	� She said to him, “I don’t believe 

you”. 

	 (C)	� She exclaimed, “Alas! I don’t believe 

you”.

	 (D)	� She told me that, “I didn’t believe 

you”.

095.	 Which of the following is the correct 

‘passive’ equivalent of the sentence?

	 One should keep one’s promises.

	 (A)	 Promises would keep by us.

	 (B)	 One should keep promises.

	 (C)	 Promises should be kept. 

	 (D)	 One should keep promises.

096. 	 Which of the following is the correct 

‘active’ equivalent of the sentence?

	 The Mayor’s speech was loudly cheered.

	 (A)	� The audience loudly cheered the 

Mayor’s speech. 

	 (B)	 The Mayor speeches loudly cheered.

	 (C)	 The audience cheered the speech.

	 (D)	 The Mayor’s speech was cheered. 
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097.	 Choose the correct sentence:

	 (A)	� We discussed about the matter 

yesterday.

	 (B)	 We discussed the matter yesterday. 

	 (C)	 We discussed to the matter yesterday.

	 (D)	 We discuss matter yesterday

098.	 Choose the correct sentence:

	 (A)	� I have ordered for three cups of  

coffee.

	 (B)	 I have ordered three cups of coffee.

	 (C)	 Both of the above. 

	 (D)	 None of the above.

 

099.	 Choose the correct sentence:

	 (A)	 I shall not come unless you need me.

	 (B)	� I shall not come except you need 

me.

	 (C)	 Both of the above 

	 (D)	 None of the above 

100.	 Choose the correct sentence:

	 (A)	� He lost not only his ticket, but also 

his luggage.

	 (B)	� He not only lost his ticket, but also 

his luggage.

	 (C)	 Both of the above 

	 (D)	 None of the above
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